@ s a Multiplicér decimaler med ti

Navn: Dato:___ Score:____
9,04 x 1000 = 5,302 x 10 =
9, 851 x 100000 = 8,199 x 10 =
3, 89 x 1000000 = 4,006 x 1000 =
9,435 x 1000000 = 10, 234 x 1000000 =
6, 826 x 100000 = 2,657 x 1000000 =
7,614 x 100000 = 7,336 x 100000 =
5,887 x 100 = 7,425 x 100000 =
4,584 x 100000 = 1,825 % 100 =
5,266 x 1000000 = 2,741 x 10 =
9,017 x 1000000 = 6, 928 x 10000 =
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Multiplicér decimaler med ti

9,04 x 1000 = 9040

9, 851 x 100000 = 985100

3, 89 x 1000000 = 3890000

9,435 x 1000000 = 9435000

6, 826 x 100000 = 682600

7,614 x 100000 = 761400

5,887 x 100 = 588.7

4, 584 x 100000 = 458400

5,266 x 1000000 = 5266000

9,017 x 1000000 = 9017000

Dato: Score:

5,302 x 10 = 53.02

8,199 x 10 = 81.99

4,006 x 1000 = 4006

10,234 x 1000000 = 10234000

2,657 x 1000000 = 2657000

7,336 x 100000 = 733600

7,425 x 100000 = 742500

1,825 x 100 = 182.5

2,741 x 10 = 27.41

6, 928 x 10000 = 69280
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